30/06/2016 College Lecturer Exam - Mathematics-|

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Mathematics-1 Time: 3 Hours

Ques # :1

Curves f(x,y) = 0 and g(x,y)=0 touch each other, then at the point of contact :-

Dof of og og
0x 0y ©x 0Oy

2 of og of og
ox &y oy oOx

3 - = = =

) of og Of Og

%]
W
5]
i
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4) None of these

qF f(x,y) = 0 TUT g(x,y)=0 TEIX TG FI &, aF Tt g -
Def of obg og

0x 0y ©x 0Oy
2) of og of og
ox Oy B oy Ox
3 of 6g of og

%]
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i
)

L
Y

L

1)a

2)2a
3)3a
4)4a

L
I)a
2) 2a
3) 3a
4) 4a
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Ques # 4

2) y
(3
X

3) u
4 0

Ques # :5

[
1o
2)1
3u
4) xyz

FA

1)

2) 1
3u
4) xyz

Ques # :6

&=

)
)&
3) [
N

[

1) [
2) e
3) [
4) Lo

Ques # :7

=
1) x=0; y=0 ; x+y=a
2) x=a;y=a; x+ty=a
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3) x+y=0; x=0 ; y=
4) All of these

L

1) x=0; y=0 ; xty=a
2) x=a; y=a; Xxty=a
3) x+y=0 ; x=0 ; y=0

) s A Tl

Ques # :8

L.

1) (0, 0) is a point of maxima

2) (0, 0) is a point of minima

3) (a, a) is a point of maxima if a<(
4) (a, a) is a point of maxima if a>0

D (0, 0)3ass faeg €
2) (0, 0) ffFeTss faeg
3) (a, a)mﬁ%%uﬁﬁo
4) (a, a)mﬁﬁg%uﬁ:?o

Ques # :9

L.

1) Astroid

2) Parabola
3) Ellipse

4) Hyperbola

Ques # :10

A
l)y:ix;x+2y+1:0
Dy=+x; x+y+1=0
3) y= X, x+2y+1=0and x+y+1=0
Y y= x:x+2y+1=0and x+y+1=0

e
D) y=4x:x+2y+1=0
) y=+x; x+y+1=0
3) y=X; x+2y+1=0and x+y+1=0
4) y= x: x+2y+1=0and x+y+1=0

Ques # :11
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L.
Drsin®g—-1)=a
2)rasin(®@+1)=0
3 rcos(8—1)=a
4)racos(8+1)=a

L.

) rsin(e—1)=a

2) rasin(®+1)=0
3) rcos(8—1)=a

4)racos(8+1)=a

Ques # :12

L

1) Circle

2) Parabola
3) Hyperbola
4) Ellipse

5“35

2) Wae

3) fawRaeT
4) dria

Ques # :13
e
Drx 57
47 4
2yx 3w
47 4
3)3r Ixw
47 4
4) 57 TIx
47 4
Lo
)T 57
47 4
2y T 37
47 4
3) 37 Ixw
47 4
4) 57 TIw
4° 4
Ques # :14
s
1) Cusp
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2) Node
3) Conjugate Point
4) Not a double point

1) ssramar

2) g

V) wgeh g
V) oo Reg Tt ¢

Ques # :15

1)(2,4)
2)(2,-4)
3)(8,8)
4) (8, -12)

1) (2,4)
2) (2,-4)
3) (8, 8)
4) (8, -12)

Ques # :16

L.

1) Both (a) and (b) are true
2) Only (a) is true

3) Only (b) is true

4) Neither (a) nor (b) is true

D @) aar b) et aca @
2) Aol (a) TS
3) Fhaer (b) G E
Darar @ T o) aeag

Ques # :17

1) a sin(t/2)

2) 2a sin(t/2)
3) 4a sin(t/2)
4) 4a cos(t/2)

L.

1) asin(t/2)
2) 2a sin(t/2)
3) 4a sin(t/2)
4) 4a cos(t/2)

Ques # :18

1

1) sinh(x/a)
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2) a sinh(x/a)
3) a cosh(x/a)
4) cosh(x/a)

1) sinh(x/a)
2) a sinh(x/a)
3) a cosh(x/a)
4) cosh(x/a)

Ques # :19

L
1
2) 12
3) 1/4
4)0

1)1
2) 12
3) 1/4
40

Ques # :20

LF.

1) Both (a) and (b) are true
2) Only (a) is true

3) Only (b) is true

4) Neither (a) nor (b) is true

l)u(a) T (b) AT AT
2) Aol (a) TS

3) Fael (b) AT &
DATAr () ATE (b) T E
Ques # :21

D P+ 2emn—n*=0
2 *m* +2eln—n' =0

3)
4)

c’n +2elm—I" =0
cw +2elm+1 =0
L.

D P+ 2emn—n* =0
2) ¢*'m* +2cln—n* =0
3 et +2elm—1IF =0
D A+ 2elm+1F =0

Ques # :22
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LF.

D2
2) 21
3) 1/1
4)2 /1

L

Di1/2

2) 21
3) 1/1
4)2/1

Ques # :23

L.

2y T

Ques # :24

L.

D 2 (1—e?)+ 2lercos6—2I =0
?) r(1—e')—2ercos@+2IF =0
2 i (1+e')+2lercos@+2° =0
Y r(1+e)—2lercos0—2IF =0
T)U r(l—e*)+2lercos@—21" =0
2) r(l1—e')—2ercos@+2IF =0

3) i (1+e' )+ 2lercos@+2I° =0
D (14 e )—2lercos8 -2 =

Ques # :25
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2 J3:3
D J3:3/2

Y 1; 32

5.:];3
2 3:3

) 3372
4 1; 3/2

Ques # :26

D tan[esinar / (1— )]

) cot[esine / (1— )]

3 tan"[2esiner/ (1 €)]
D cot™[2esin @/ (1— )]
D tan"[esin o / (1— )]
2) cot[esina/(1—€)]
3) tan"[2esine/ (1—e')]
D cot"[2esin a/(1— )]
Ques # :27

1) - cota +ecosec a
2) ecot o - cosec a

3) _ coseca -ecoto
4) - cotd -e cosec o

L.

1) - cota +ecosec o
2) ecot o-coseca

3) - cosec o -ecoto
4) - cotal-e cosec o

Ques # :28

L.

l)ap +cr=-1
2)ap tcer=1
3)ac+pr=1
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4)ac+pr=-1
l)dap-I-cr:-l
2)aptcer=1
3)ac+pr=1
4)ac+pr=-1
Ques # :29
) ga=0p
Do=x/2
3)) @=mx
Y g=2x
) ga=0
2)g=nx/2
3) 8=nm
4) 9=2x
Ques # :30
De=r
De=x/2
3) 8=0
YVe=2r/3
) g=x
2)@=nx/2
3) 8=0
D B=27/3
Ques # :31

D Ix+my+nztana =0

2 3 3
) be+mytfl"+mztan =0

3 Ix+my—ztana =0

Y k+my+ztana=~I" +m’

L

D) Ix+my+nztana =0

2) k+my - +m'ztan =0

3) k+my—ztana =0

D K+my+ztana =~ +nm’

Ques # :32
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D P/ 3lmn
225 /lmn
3) 2p° /3lmn
Y 2lmn/3p’

D p* /3imn
2) 2p° /lmn
3) 2p° /3lmn
4 20mn/3p°

Ques # :33

The equation of the plane that bisects the line segment joining the points (-1, 2, 3) and (3, 4, -5) at right angle,
is :-

1)2x+y+4z=9

2)2x-y-4z=9

3)2x -y +4z=9

4)2x +y-4z=9

fasgait -1, 2, 3) T (3, 4, -5) P TR ATl TWT GUS: Y FHPIT 9T FAGTANTAT FIA aTel FHATAT

T HHIHTOT G1IIT:-
1)2x+y+4z=9
2)2x-y-4z=9
3)2x-y+4z=9
4)2x+y-4z=9

Ques # :34

1)@3,6,-2)
2)(1,4,-5)
3)(2,1,-3)
4) (1, -10,9)

1) (3,6,-2)
2)(1,4,-5)
3)(2,1,-3)
4) (1,-10,9)

Ques # :35

The equation of plane passing through the intersection of the planes 4x -y+z=10andx +y-z=4 and
parallel to the line with direction ratios 2, 1, 1, is :-

1)Sy-5z+6=0
2)5x-5z2+6=0
3)5y-52-6=0
4)5x -5z-6=0

AAAAT 4x -y +2=10 FUTx +y -z = 4 F YicTedq A T I 74T @1, 7T G Ireqara 2, 1, 1

¢, & TATTAR AT HT THIHIOT § :-
1) 5y-52+6=0
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2) 5x -5z +6 =0
3)5y-5z-6=0
4)5%x-52-6=0

Ques # :36

L.
1)2/3
2)1/3
3)-2/3
4)-1/3

3

1)2/3
2) 1/3
3) -2/3
4)-1/3

Ques # :37

1) 5
2) 3
3) 4
4) 6
s
2)3
3)4
4) 6

Ques # :38

L.

D) ayz+ fzx + yxy = 2xyz
2) oty _I_ﬁ:y: -I-}’:Z: -1
) ax’+ fy +yzt =1

Dty 4 —ax— fy—yz=0

L.

1) vz + fzx + yxy = 2xyzZ

2) {I:x:-l-ﬁ:y:-l-;f:z: =1

3 ax’+ fy +yzt =1

D x4y 42 —ax—Py—yz=0

Ques # :39

LF.

1)

3)
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4
) ax—a=bv—-b=cz—c
L
1 . : :
) a b ¢’
ax——=by——=cz——
2 2 2
2) a b c
ax——=by——=cz——
2 2 2

4) ax—a=bv—-b=cz—c
Ques # :40
Da+p+y=0

2)

a+pf+y=

o | |

Da+p+y=n

D a+p+y=2r1

L

Da+p+y=0

2)a+ﬁ+y:

ro | =

Na+p+y=nx
Va+rpf+ry=2x7

Ques # 41

The equation of cone whose vertex is at the origin and guiding curve is z=c; f(x,y) = 0, is :- (Where c is a
constant ).

1) 1
VZ X

39 AF FT FAFIOT et o a7 feg e fadens @ 2=c; f(x,y) = 0 8, 8191 :- (ST&T c U 3R &
)

D' (e v
()
Vz zx

2)
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Ques # :42

D@ +b* +c* +2ab+2bc+2ca=0
2) ab+bc+ca=0

D Py g+ =ab+bc+ca
Yot i +ab+betca=0

D @ +b* +c* +2ab+2bc+2ca=0
2) ab+bc+ca=0

3 flyg*+h =ab+bc+ca

Y Lt i +ab+bc+ca=0

Ques # :43

The equation to the right circular cylinder, whose axis is along z-axis and radius r, is:-
1) - _|_y: I PR
2) iy Jf': —

3 P+ =1

Y rE +y7—22)=1

3 AFAGAIT Fo0eT HT GHIFIOT FHahT BT r v 3787 2-3787 F reqfeer ¥ :-
D x4yt —2z=4

2) X'yt =p

3 i +y)=1

D+ —22)=1

Ques # :44

1) 7 7 7
a-l b*m c*n
p p D

2)

3)
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\ p
4) ¢ 9 ) QJ

P P P
1)
a*l b*m c*n
p p P
2)
a*I* bim* ctn?
p p p
3)
fazfz bm* c*n?
2 7 2 7 2
\ P P P
4
) rfﬂfz bm* cn*
L » p P

\/1+1+1
at b ¢t

ll')u 7 7 g
\/a‘ +b° +c*
2
) 1 1 1
— 4 —4-—
a b c

3)
1 1 1
PV )
4
)qa+b+c

Ques # :46

if P(x, y, z) and OP=r, then grad[f(r)] is :-
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Ve

r
) 3 (r)

VP
r

r 2
4) Null vector

I P(x, y, z) TUT OP=r, d« grad[f(r)] 11T :-
e

r

I

2 (1)
3) _f'(r)

r I’E
4) o= afeer

Ques # :47

L.

1) grad¢ =0
2 divE=0
3) curl .E =0
4) None of these

L.

1) grad¢p =0
2) divF =0
3) curlﬁ:D

Y g1 A 1S oA

Ques # :48
I'.-J
D2 2 2
X“+yv +z"=a+b+c
2) 9 3 9
X“+y" +z°=ab+bc+ca
3) 7 7 _ _ _
.1:‘+y‘+z‘:.:‘11+EJl+f:1
4) 5 3 7
x“+y"+z° =3abc
L.
D 2, 2, 2
X“+yv +z"=a+b+c
2) 2,2, 2
X +yv +z" =ab+bc+ca
3) 2 2 2 — _ _
x‘+y‘+z‘:al+bl+cl
4)
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7} 7 ¥
X“+v +z° =3abc

Ques # :49
e
1)
Ix my nz_,
at bt P
2)
Ix my nz
—+t 3+t~
a c
3) 9 9 7
ax by c°z
2 =0
" 4
Y ax by ¢’z
22, =1
[ m g
Lo
1
) Ix my nz _
a*  b* 2
) Ix my nz
7 T Ty 3 =1
a- b c*

Ques # :50

D fryr

2 2 ()7
3 3f(r)7
4) Null vector

D £

2) 2 f(r)7
3 3f(n7
4) s afeer

Ques # :51

L.

1)0
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2) nt
3) nj
4 nk
[

1)
2) ni

3) nj
4) nk

Ques # :52

&2

=
)&
3L
N

&2

D) e
2) e
3) [
4) Lo

Ques # :53

[
1
2)0
) x

4) 2

=

1)1
2)0
) &

4) 271

Ques # :54

=
D |pld
2 |vold
Y |vola
9 vl

B
D |¢la

2) |vold
3) |vpla
4) |Vl
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Ques # :55

L.
) 64
3

2) 3271
3) 647

T

2) 327
3) 641

4) 32

Ques # :56

L

1) Solenoidal but not irrotational

2) Irrotational but not solenoidal

3) Solenoidal as well as irrotational
4) Neither solenoidal nor irrotational

D) aftenfordir & o1 srepoieia =8
2) 3reqoieer ¥ ox aReTRRT 8§
3) qfeTferehrer & e reroieiar ot &
4) a1 i aRTTRRTE & o & 3ol ¥

Ques # :57

L

S
2)2S
3)3S
4) 4S8

L
1S
2) 28
3) 38
4) 48

Ques # :58

L.

1) 1/2
2)1
3)3/2
4)2
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L

1) 12
2) 1
3)3/2
4)2

Ques # :59

R
2) 5.2
()

T 2(E) vk

dat
Y r2 ok

.
() vk

) E(d—;)z +k

2 \dt

Y2 (Z)

dt
Y rzyk

Ques # :60

L.

DN 4
2

2) &

3) 2«

4) 4

L

1) 7
2

2) T

3) 27

4) Arx

Ques # :61

1) ,
ce” :tan[erJ ]4‘1
2
ce” =tan(x+y)+1

ce® = tan[x +}1]—1
2
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4)
ce* =tan(x+y)—1
) .
cexztan['r_i_}}rl
2
2) ce” =tan(x+y)+1
3) _.
ce™ = tan r+;]_1
2
4) .
ce” =tan(x+y)—1
Ques # :62

D y=xlogx

2) cxX
y=xe
3
) y =ce”

Y y=x+ece”

D y=xlogx
2

) J.':xgcx
)y =ce*

Y y=x+ce”

Ques # :63
1) 1
g — —
2
2) 1
e+ —
2
3)1
2
4) 1
2
Lo
1) 1
g ——
2
2) 1
e+ —
2
3) 1
2
4)
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1
2

Ques # :64

F3

D 2x
2) _2x
3) E,’xz

4 .2
)E:r

&
1) 2%

2) 2y

Ques # :65

F3

D y=xe"¥ +¢
)

3L

45

Ques # :66

&=

)
)&
3 L
H

[

1) [
2) e
3) [z
4) Lo

Ques # :67

[&2
=
)&
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3) Lo
4) |

&=

D) Lo
2) e
3) [
4) Lo

Ques # :68

&=

)
)&
3) [
N

[

1) [
2) e
3) [
4) Lo

Ques # :69

[

)@
)&
)&

4) Non-existence

[e-

1) [
2) e
3) &=

4) 3ifecea & gt

Ques # :70

=

)@
2)
3L
4,

&=

D) Lo
2) e
3) e
4) [

Ques # :71

&=
)
)&
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3) Lo
4) |

&=

D) Lo
2) e
3) [
4) Lo

Ques # :72

&=

)
)&
3) [
N

[

1) [
2) e
3) [
4) Lo

Ques # :73

[

)@
)&
3 L
N

[

D) Lo
2) e
3) [
4) Lo

Ques # :74

&=

)@
)&
3) [
N

[e-

1) [
2) e
3) [z
4) Lo

Ques # :75

=
N
)
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3) o
4 ol

&=

D) Lo
2) e
3) [
4) Lo

Ques # :76

&=

)@
)&
3) [
N

[

1) [
2) e
3) [z
4) Lo

Ques # :77

e

1)4 and x
2) 4 and 2x
3) 2 and 2x
4) 3 and x

7
D 4 gomx

2) 4 T 2x
3) 2 qur 2x
4) 3dArx

Ques # :78

[&2

=
)&
3@
N

e

1) [
2) e
3) e
4) L

Ques # :79

=
)@
2)
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3) Lo
4) .5

[

1) [
2) e
3) [
4) Lo

Ques # :80

[&2

=
)&
3
N

[e-

1) ez
2) ez
3) e
4) L

Ques # :81

[

1) Only (a) is true

2) Only (b) is true

3) Neither (a) nor (b) is true
4) Both (a) and (b) are true

=

I)W(a)ﬂ?@l%’

2) &ael (b) T &
Darar ) AT (b) TAE
) (a) TUT (b) AT T E

Ques # :82

[&2

=
)@
3L
N

&=

D) e
2) ez
3) [z
4) [

Ques # :83

&=
)@
)&
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3) Lo
4) o2

[e-

1) [
2) e
3) e
4) L

Ques # :84

&2

=
)&
3L
N

&=

D) e
2) ez
3) e
4) [

Ques # :85

[&2

DL
)&
3@
N

e

1) [
2) e
3) [z
4) Lo

Ques # :86

&2

=
)
3L
i

[

1)
2) ez
3) [z
4) L

Ques # :87

&2

1) Perpendicular to P
2) Parallel to P
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3) Making equal angle with P and Q
4) Making angle with P and Q in ratio 2:1

=
D) p & orFgaq

2) P & GAlER
3>PH&TQ@WWW§@
) P AT Q  2:1 3 AT H FHIOT FeAT gU

Ques # :88

=

N
)
3
4

[

1)
2) ez
3) [z
4) L

Ques # :89

[

)
)&
)&
Y

&=

D) Lo
2) ez
3) e
4) [

Ques # :90

&=

)
)&
3 L
5

[

1) [
2) e
3) [
4) Lo

Ques # 91

&=
)@
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2)
3)
4)

|~
|~

|~

1) e
2) Lo
3) Lo
4) Lo

Ques # :92

L.
1) Amplitude and argument

2) Epoch and argument
3) Argument and phase
4) Amplitude and phase

L

D) 3mrame o ot
2) gYen(HTeTaTe) T HI0TH
3) SYoTi qUT STaEAT
4) 3T T JTaEAT

Ques # :93

Centre of Earth attracts a body with force (a) Out side surface varying as the square of distance from centre
(b) Inside surface varying inversely as the distance from centre.

1) Only (a) is true

2) Only (b) is true

3) both (a) and (b) are true
4) Neither (a) nor (b) is true

Rl T Fogs U A0S Y JTH T FIATE - T6 a7 (a) AT F TR Fows W G & T FHT HTFHATTITAT
AT} | (b) TAE F e Fo U G & SIAFATTITC YT 3]

D) &haet (a) T &

2) &ael (b) T &

3) St (a) I (b) FT &

Dardr @ ard ) aag

Ques # :94

L

1) |-
2)
3)
4)

|~
"~

.

L

1) L
2) L.
3) e
4 L.
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Ques # :95

L.

D [
2)
3)
4)

|~
|~

|~

L

1) L
2) o
3) Lo
4 Lo

Ques # :96

If a particle is moving vertically downwards from rest through a medium whose resistance is k times the
velocity , then the terminal velocity would be:-

DL
2) L
3) L
1) e

I v For RTATTEAT & Ecardor F refier v 3 ATewH @ @i e ¢ e wfoade su%
9T T k T[0T, &Y ST ITocTs 9T 31T +-

DI
2) |l
3) e
4) |l
Ques # :97

A particle moves towards the centre of Earth (of radius'R') from rest at infinity . Its velocity at centre of
Earth will be :-

1) Infinity

2) Zero

3L

4)

L.

ey & 3o @ v s qedt (A1 'R') & Feg 1 31T 37T § [Fo6 T SHERT 397 191 :-
D) srted
2) oy

3) |
4) Lo

Ques # :98

L

D [
2)
3)
4)

[~
|~

"~

DR
) i
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3) Lo
4) Lo

Ques # :99

L

D [
2)
3)
4)

L
L

.

1) L
2) L.
3) Lo
4 L.

Ques # :100

L.

1) Arithmetical Progression
2) Geometrical Progression
3) Harmonical Progression
4) None of these

D) garea) gofr
2) apoitear Aofr &
3) garcHe Jof &
4) 3o @ IS AET

Ques # :101

A gun can fire with a velocity u in all directions from a given position on a horizontal plane. The shot will fall
on the plane within a circle of radius:-

Dulg
Dullg
Nt/ 2g
Vutlg

forely &) g8 Teufar @ difcrsr Forael T o segh @ Fsit feemait & 97 u & aNferat gons ST ¥ |
MFAAT FATT W TF g F Heed I, forahr frsam gt

Dulg

Dullg

Nt/ 2g

Yu'lg

Ques # :102

The image of x=constant under the transformation w = sinz is :-
1) an ellipse
2) a hyperbola
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3) a parabola
4) a circle

College Lecturer Exam - Mathematics-|

qﬁﬁ?ﬂw=sinz$mx=m$ﬂlﬁﬁﬁ%:-

D s Qg

2) s HfARGT
3) teh WaerT
4)1:;-3;3[3-

Ques # :103

1) 2&'_:
2) 2e”
3) 282

4) _2-€:

) 2¢7
2) 2¢™
3) 2¢°

4) ¢

Ques # :104

L.

1) removable singularity
2) essential singularity
3) pole of order 2

4) pole of order 3

Bﬁmﬁu%ﬁaw
2) 31ferare _RfREar

3) 2 e T 3eTedh
1) 3 FIfE & eTedh
Ques # :105
D Tl
36e
2 i
18e
3 2mie
9
4) 0
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36e
2) i
18e

3) 2rie

9

4)0

Ques # :106

The number of generators of a cyclic group of order eight is :-

) 1
2) 2
3) 3
4) 4

TS HH & T THE A SToTeh! Y HEATE :-
D 1
2) 2
3) 3
4) 4

Ques # :107

1

1)(145)(263)(78)
2)(145)(236)(78)
3)(462)(513)(87)
4)(415)(623)(78)

L

1)(145)(263)(78)
2) (145)(236)(78)
3)(462)(513)(87)
4)(415)(623)(78)

Ques # :108

D ad—be=0
2) ad+bc =10

3
lalH |
Db d]

B‘ ad —bc=0
2) ad+bc=0
Y aldc|
Y bHd|
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Ques # :109

&
1
2)2
3)3
4) 172

3
1
2)2
3)3
4172

Ques # :110

&2

D e™siny

2 —x .
)—exsmy

3 .
) ¢*sin ¥

4 :
) _e¥sin y

=
D e™siny

2 —x .
) _e Fsiny

3) e*siny

4)

—e™sin y

Ques # :111

&2

D 7
D i
2

3) Tl

4 .
L

&2

) o
2) zi

2

3 i

4) —i

Ques # :112
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Value of z, where the function f(z)=sinh u cosv + i cosh u sinv ceases to be analytic, is :-

) z=+1
) z=0
3) z=+i

4) None of these

Z &1 AT ST BeleT f(z)=sinh u cosv + i cosh u sinv AT AT T &,:-

1) z=+1
2) =1
3) 7=+

Y g1 A 1S AE

Ques # :113

College Lecturer Exam - Mathematics-|

If f(z) is analytic constant function in the domain D, then:-

1) Only R[f(z)] is constant

2) Only I[f(z)] is constant

3) both R[f(z)]and I[f(z)] are constant
4) None of these

IfE f(z), Wea D H RAART 3R FaT & A :-

D) &g R[f(2)] 3R E

2) adl [[f(z)] 3R E

3) @At R[H(2)[FT I[f(z)] 3R &
4 g g e

Ques # :114

1) 8
2) -8
3) -4
4) 4

1)8
2) -8
3) -4
4) 4

Ques # :115

L
D i
2) 27

3 Arxi
4) Zero

L.l
D) 7
2) 2r1i
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3) Axi
4) I

Ques # :116

L.

D 2

2) z=0 is a double pole

3) e

4) z=o is a removable sigularity

L

1)
2) 70 &3 3Tec & |
3) e
4) 7=0 39T fARFATY |

Ques # :117

L

1) Only (a) is true

2) Only (b) is true

3) both (a) and (b) are true
4) Neither (a) nor (b) is true

D ¥aa ) aad

2) &ael (b) G &

3) QT (a) AT (b) AT &
B AT A (2) AT (b) FAE

Ques # :118

1

1) . . .
vi=4a (u+a’)

D\ =44 (u+as)

3) u’ =4a:(v+a:)

Yt =—4a* v+ d?)

W

1)

vi=da' (u+ad)
D) =44’ (u+a’)
3 i =4a*(v+a’)
Dt =—aa*(v+ad)

Ques # :119
L.
Diz|=R

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/103-Mathematics-I/sesspack/gpimages/QP_103-Mathematics-1.html 35/45



30/06/2016 College Lecturer Exam - Mathematics-|

2 |z|<R

) z1<R

4) |z|= R

1) |z|:R

2) |z|=R

3 |z« R

D z>R

Ques # :120

D2 sine
— <1
T

2 7 siné@
- <0

2 7

1 6
—<——x=1
T smt

Y 1 sine@
— < <1
2T G

D2 smng
— <1
T &

2) :
7 sm&{n

2

31 @
—<——=1
T smé

Y 1 sin@
— < <1
2T G

Ques # :121

1) Cyclic group

2) Non cyclic and non abelian group
3) Abelian group

4) None of these

! ssbrer g
2) TR TAT AN THE
3) e IHE

a
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Ques # :122

L.

1) RZ
2) 1R
3) RI2
4) R

I)L RZ
2) 1R

3) R/2
4) R

Ques # :123

Ques # :124

Three statements are: (a) Every field is an integral domain (b) A field has no zero divisor, (¢) A skew field has
no zero divisor. Then :-

1) (a) and (b) are true but (¢) is not
2) (a) and (c) are true but (b) is not
3) (b) and (c) are true but (a) is not

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/103-Mathematics-I/sesspack/gpimages/QP_103-Mathematics-1.html 37/45



30/06/2016 College Lecturer Exam - Mathematics-|
4) (a) (b) and (c) are true

1T FUA B : (a) TAF 81T [UITRIT WTocl B1AT & (b) &1 H Yo TSI o781 g1l & (o) FAwaw &7 F o
HTST% AGT g1l o] a1 :-

1) () 2T (b) FT E W (c) 3T &

2) (a) AT (c) BT & T (b) 3T §

3) (b) AT (c) TT E TR (a) 3T &

) (a) (b) FUT () TR

Ques # :125

Da=4+B+C

) g=24+B+C
3) ¢=24-B+2C
) g=A4A-2B+C

L

Da=4+B+C

2) ¢=24+B+C
3) =24-B+2C
4) a=A4-2B+C

Ques # :126

Which of the following is not a solvable group ?
D [

2) Cyclic group

3) e

4)

L.

fovesr & & et a1 WrEET WA AE T 2

Ques # :127

Which of the following statement is false?

1) Every homomorphic image of a solvable group is solvable .
2) A group of prime order is nilpotent .

3) Every solvable group is not necessarily an abelian group .
4) Every subgroup of a solvable group is solvable.

A & O Flw Fya WA E -

I)WHH@ FT Tedeh ATHNT ITdfaes AT T & |
2) 73T FITE T TcIeh THE LI T & |

3) gedeh ATEIT THE 3TATRTS &F J el 8T g1 ¢ |

4) ATEATT HEHG T Tcdeh ITHHG ATEAIT Gl & |
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Ques # :128

L.

1) n is any number

2) n is any prime number

3) n is any number such that n is a divisor of the order of G.

4) n is a prime number such that n is a divisor of the order of G.

[
) n 8 e E

2) n FIS AT T&AT &

3) n Uk HE&AT E FfF n, G T RIS I HATSTF &

) n T AT TEIT & STaF n, G T R 1 ATSTF &

Ques # :129

L.

D
2)
3) &2

4) All of these are true.

L.

DL
)
3 b

DTy

Ques # :130

Let G be a finite group. Consider the following two statements:- (i) G is nilpotent (ii) G is a direct product of
its sylow subgoups. Then

D [
2)
3)

4) neither (i) nor (ii) is true

L.

L.

AT fOF G v IRfAT 7o § | oot QY Feat ) AR &R (1) G v e @9 § (i) G 59
fﬂ?ﬁ(sylow) H-Tr'\‘ﬁﬂT(direct) 7501?{% ,ar:-

1) |l

2) |l

3) |l

D Far i) ATE (i) T E
Ques # :131

The polynomial ring Z[x] over the ring of integers is a:-
1) Prime ideal but not a maximum ideal

2) Maximal ideal but not a prime ideal

3) Both prime and maximal ideal

4) Commutative ring with unity only

Uit F T 7 R 9g9E T Z[x| § T :-
D) srarsr AUTSATTA o] 3T IJUTSTTdel 18l & |
2) 3feass OISl TRed AT 0TI LT § |
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3) 3feass wd 33Ty IUTSTTael Al § |
4) Fraer F fafers e so1s g T & |

Ques # :132

L.

1) Only (a) is true

2) Only (b) is true

3) both (a) and (b) are true
4) Neither (a) nor (b) is true

D &aer (a) T &

2) &ael (b) T E

3) Gt (a) AT (b) T &
Y AT A (a) FATE (b) FAE

Ques # :133

Let R be an integral domain and f(x) is any polymomial in R[x] with degree f(x) =r, Then f(x) is inreducible,
when r is equal to :-

H 1
2) 2
3 3
4) 4

AT 3 R $1§ QIR IIedt § T4T R[x] H f(x) FI$ g9 & T1H f(x) FY &1 r § A f(x) 3r@osg

819, IS r WET§ :-
H 1

2) 2
3) 3
4 4

Ques # :134

1) 0
2) 1
3) 2
4) 3

1)0
2) 1
3)2
43

Ques # :135

L

1) 1/64
2) 1/4
3) 1

4)1/8
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L.

1) 1/64
2) 1/4
3) 1

4) 1/8

Ques # :136

Let G be a group of permutations defined on a set S = {1, 2, 3, 4, 5}. Then order of proper normal subgroup of
G is :-

1) 30
2) 60
3) 120
4) 240

AT fF qH=AT S = {1, 2, 3, 4, 5} W IRAT For=At T 6@AE G ¢, A G F 37 RAfdrse sqwsg

Y Fife gat:-
1) 30
2) 60
3) 120
4y 240

Ques # :137

A homomorphism f of a group G into a group G 'is a monomorphism iff Ker(f) is : (where e and e' are
identities of G and G ' respectively) :-.

D) &
D {e e}

N{e}
Ve

et T G @ WHE G' H WATHIRGT f vahehr g1t AfE 3R Faer AfE £y 31 7 (F@T e 3R o' Fovew:
HE G TUT G' & dcHAS HaId 9) :-

1) Lo

D {e e}

V{e}

Yie)

Ques # :138

L.

DL
2)
3) &2

4) None of these

L.

L

1) Lo
2) e
3) e

Y g1 A IS e
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Ques # :139

L.

D [
2)
3)
4)

"~
L

"~

L

D) el
2) o
3) e
4) Lo

Ques # :140

L.

1) K =R (the set of real numbers)

2) K =Q (the set of rational numbers)
3) K =C (the set of comlpex numbers)
4) K = Z (the set of integers)

L.

D K = R (areafass deansit & wegea)
2) K = Q (aRAT GEansit &1 weeaw)
3 K = C (afens geansit &1 wgea)
) K = Z (quiieRt &1 Toea)

Ques # :141

1
2) 2
3) 3
4) 4

1)1
2)2
3)3
4)4

Ques # :142

Which of following is a linear transformation ?

D &
) [
3) el
Y e

e & @ lerar v MR sueaRor ¥ -

) |
2) |l
3) e
4 e
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Ques # :143
) r—1
("o
) r—1
("o
3y r 0
(-
4) 0

-1

1) r—1

(o
2)—1

("o
D (2
4)

-1
Ques # :144
D 220

95
2) 1220

—98
3 220

—98
) 220

a8
1) (220

98
2) £220

—08
3) 220

—98
4) 220

a5
Ques # :145
D e
2) s
3) &2
4 o

1)
2)
o)
o)

1)
%)
o)
o)

487
—217

487
—217

487
—217

487
217

487
—217

487
=217

487
—217

487
217
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1) e
2) o
3) e
4) Lo

Ques # :146

L.

1))

2)

A2 —54+4=0

A +44+5I=0
) 42 _54447=0

Y 4L 454447=0

L.

D g s54+4=0
2) 4> 444+5I=0
) 42 54+41=0
A2 +54+4I1=0

Ques # :147

(1, 1)
2)(2,-1)
3)(-1,2)
4)(-2,-1)
D (1, 1)
2)(2,-1)

3)(-1,2)
4)(-2,-1)

Ques # :148

L
1) - y) 2
x"—4dxy+y- +b6yz—2z"

2)
x2+4x}:+}:2_6}2_32

D 2 2
x“+4dxv+yT+6yvz+z2

4) None of these

P

1 7 2 2

) xT—dxy+yT +6yz—2z7

2
) xz-l—i‘rxy-l—y:—éyz—z:

3)
X +4xy+ }:2 + t’iy.z—l—z2

Y g1 A 1S A
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Ques # :149

Let AX = B is the matrix form of a system of linear equations. If rank of A=m, rank of augmented matrix [A
B] = p and number of unknowns =n, then the system has unique solution when :-

1) m =p only
2)m=n=p
3)n>morn>p
4)n>mandn>p

AT et Y@+ FHtwtor o &1 #AfeFw 77 AX = B § | I A Hr Fife = m, gafa dAfeea
[A:B] FY FIE =p T 3rATT TTAAT Y FEAT =n &) A TAFTT FT IgfacT gor g 1afe :-
1)%T“l'm:p

2)m=n=p

3)n>m?JTn>p

Yn>mTdn>p

Ques # :150

<y, iy >=0
2 <u;,u; »>=0
3 < u; u; ==-1
D <y uy >=1

L.

D <,y >=0

2) <u;,u; »=0
3) < u;, u; >=-1

4 <y uy==1
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